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Choose the correct option. for fol

Q1.
compulsory and carry equal ma s

1 A survey is treated as plain survey
Option A: | Less than 260 sq. km .
Option B: | More than 260 sq. km
Option C: | Less than 300 sy. km "«
Option D: | More than 300 sq.km

2, The Dip of the neecﬂ is-
Option A: | Horizontal 3
Option B: | Vertical
Option C: | Neutral
Option D: Azimuth g

3. The Vertical dlstance b‘ ween any “éonsecutive contours is called
Option A: | contour gradient : ' b
Option B: | contour Intexval
Option C: |-inverted counter
Option D: - ‘contour »d-imenslibn 29
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o 6 v o When Athe ﬁrst readmg taken on a staff on a BM of RL 103.45m, is 2.875m. The

Option

'5';106 3,25 m.

" ["Option B:

2.875m.

" Option C:

100.575 m.

103.45 m.




7. The chord of a curve less than peg interval, is known as .
Option A: | Normal chord '
Option B: | Sub chord

Option C: | Small chord

Option D: | Short chord /

8. The working principle of tacheometry is based on
Option A: | Right angle triangle :
Option B: | Isosceles tringles
Option C: | Rectangle
Option D: | Square

9. The Simpson’s rule of computmg area lS apphcable onl‘” when number of
ordinates is .......... AR St A WY SR
Option A: | EVEN

Option B: | ZERO 3
Option C: | INFINITE

Option D: | ODD

10. For a horxzontal lme Qf mght horlzontal dx@tance in tacheometry is glven by
Option A: | (f¥s) + (f+d) .00 & - . . e |

Option B: | (f/s)*i + (f- -d)
Option C: | sf/fd
Option D: | (f/1)*s +

Q2 Solye an 0‘ Questlons : 10 marks each
E_Qlloi)ﬁ' g ing were observed m the ﬁeld where local attraction was suspected.

FB_ BB

6615 244°00°
129545 313°00°

gy S 218°30° 37°30°
T 306%45 126°45°

plain in detad the road project executed in survey camp and state the utility of the
ame for a civil engineer.
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Solve any Two Questions

In a closed traverse PQRSTP, the following lengths and bea
LINE | Length/ (m)
PQ 725
QR T &
A RS 1250
ST
TP
Station
sighted BeaT
B
A 320°40 +10°36°
B 50°40 +8°54’

% 10 marks each

the chain line, irregular boundary line and

95 110 140 170 | 200

8.8 6.9 8.2 6.5 5.8

he neceSsarv data to set out a right-handed simple circular curve of 600 m radius

,o stralghts intersecting at a chamage of 3605 m by deflection angle method, the

& Explam witﬁ '&,Lutable diagrams (Any Two)

. Characteristics of Contours
i) .. Methods of PTS
o 111) ‘GPS ,
| vy Reciprocal Ranging
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